2 7 8 9 10 11 12 13 14 15 16
___________________ \V //
10 .
[/
N / I ==
- Nt s —
\ | N i
K ] '
I
| 17 |- HULSE GLACIER 3 @12 x 10 0
‘ O > i 16 |--- SECHSKANTMUTTER IS0 4035-M8-8 4 0
1 7 | / 15 |- SECHSKANTMUTTER ISO 4035-M10-8 6 0
' 14 |- UNTERLAGSCHEIBE ISO 7092-8-300 HV 4 0
‘ 13 |- UNTERLAGSCHEIBE 1SO 7092-10-300 HV 6 0
T I i 12 |- ZYL-SCHRAUBE IN-6KT 1SO 4762-M8X35-12.9 2 0
/ 1 | | I.., 1M |- ZYL-SCHRAUBE IN-6KT ISO 4762-M10X45-12.9 3 0
/ \\< 7 | /7 10 |- SPANNSTIFT 1SO8752-5X25-ST 2 0
[ % 7 / 9 |BSA2502218500  |HULSE 2 | Cuzn39Pb3 (EN 12167) 0
/ \ 7 . , 8 |BSA 2502218400 |GRIFF 2 | S235JRC (EN 10025-2) 0
/ 3.. LY 7 |BSA 2502 2186 00 VERBINDUNGSSTUCK 2 | S235JRC (EN 10025-2) 0
) 7 | 7 6 |BSA 25022188 00 VERZAHNUNGSSTUCK_2 1 | S235JR+N (EN 10025-2) 0
' N / 5 |BSA 25022187 00 VERZAHNUNGSSTUCK 1 S235JR+N (EN 10025-2) 0
. 4 . 7 4 |BSA2502219000 |VERZAHNUNGSSTUCKHALTER 2 | S235JRC (EN 10025-2) 0
\ ;_ w7 3 |BSA2502219100  |LAGERBLOCK_2 1 | ENAW-AIMgSI T6 (EN 755-2) 0
\ \ | \ 2 |BSA 2502219200 LAGERBLOCK 1 EN AW-AIMgSi T6 (EN 755-2) 0
\\ ; \ 1 |BSA 25022189 00 ZANGENBACKE 2 | 15NiCr13+TH (EN 10084) 0
\ N | N Mark Code of the raw Designation Qty Raw material Dimension kg
O / \ Component kg Analog Product Element
_:
Description, local language Created by LOPESOG 16.12.2019
Page Approved by DMS
BOLZENSCHNEIDER s
. English description 1 / 1 Approved by RD
| B BOBST
1 5 According to Bobst Specification (STF) INTERNAL © Bobst Mex SA CH-1001 LAUSANNE
Scale  1+1 A1 Revision Edition
Date CM Created by Approved by Change REV Metric C @ B SA 2 5 O 2 2 2 1 3 O O EX= B ‘ 00




